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CLINICAL COURSE - Ii
Alternate Disputes Resolution Systems

Duration : 2 Hours Max. Marks : 60

Instructions: 1. Answer Q. No. 9 and any five of the remaining.
2. Q. No. 9 carries 15 marks and the remaining questions
carry 9 marks each.
3. Answers should be written either in English or Kannada
completely.
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. What is arbitration award ? Narrate the essentials of an arbitration
award.
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. Explain briefly conciliation under Arbitration and Conciliation Act.
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. Explain the phasas of negotiation.
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. What are the models of mediation ?
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. What is arbitration clause ? Explain how it differs from arbitration
agreement.
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. Explain the features of Arbitration and Conciliation Act.
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Q. No. 7. Who is a negotiator ? Explain the powers and qualities of a negotiator.
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Q. No. 8. Elucidate the factors responsible for the delay in the administration
of justice and the efforts to reform it.
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Solve any two of the following problems : Marks : 7V2x2=15
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a) In a dispute between Mr. A and B, ‘C’ will be appointed to act
as the arbitrator. Mr. C examined several witnesses and
documents and before giving the award declares that he
withdraws his consent to be the arbitrator. Whether C 's act
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Mr. Arun catches a thief who is found to have stolen gold
from his jewellery shop. He decides to handover the thief to
Mr. Varun who acts as an arbitrator. Can Varun decide this

As there is a dispute between A and B, they decide to approach
C as the arbitrator. When the arbitration proceedings are going
on, both A and B come to a settlement. What is the position
of C now ? Decide.
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